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Formal Geometry Name:

Ch 11 Review Worksheet

Use exact answers for all problems, unless otherwise indicated.

1) Find the volume. baic

U= Bk
:%(LL)(L‘) 16 cm

_L(@le)(0) e (: %t LI 7

2) Find the volume of the square pyramid shown, if the
perimeter of the base is 24 in.

)= %8k

3) A basketball is shown below. Find the Volume, in terms of x and pi, if the radius of the basketball is
represented by 6x.

U= e’
3
-4
= '3—71'((’)‘)

. Sr(aes)
(\/ = 2831 Xi]

4) A container for mixing cement is shaped like a rectangular prism with a length of 60 inches, a width of 48
inches, and a height of 32 inches. The container can be safely filled within 2 inches of the top. Nicole makes
enough cement to fill the container one time in order to fulfill an order for 48 cubic feet of cement. How many

cubic feet of cement will she have left after filling the order?

© Y-8k So -ug = (2Ft IFt

P 25 (@)as)
=4FfF V = S0f+ ?

Fe
gy 5) Find the radius of a sphere whose volume is 420 m®._Round to the nearest tenth.
4 1 if ~3
U: 3 mr "= \OO)-G?

(F)uo= e’ (%) [ =%em )

6) A sphere has a volume of 9727 ft*. Find the radius.

V= %TIT‘ 3 'irfjé 129

) ama = $1r* (7)
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7) A paperweight is made of pure iron and is in the shape of a cone. The cone has diameter of 4 cm and is 6 cm tall.
If the iron costs $3.50 per gram, how much is the paperweight worth? Hint: iron weighs approximately 7.8 grams per

cubic centimeter. __L- 2 8 g l qace. oY
IR o

= ’Ln (3)‘(6) -
3 | 9¢. oY J ’Wegéhlfz

Ycn V = gTrCM3

8) If two similar solids have ratio of volumes of 16 : 54, and the surface area of the larger solid is 108 in?, find
the surface area of the smaller solid.

r o‘r u - 165# L/-_ X

—

8:27 9  losT
s‘r _ 23 ar L[‘?D-Tl-
- of SA= 47 x = 48T uﬂ
o = ‘ .

9) Find the Volume of the cone shown, in terms of pi.

10. What is the ratio of the volumes of two cubes with edges of lengths 4 inches and 8 inches?

sf- 4::3

B. 16: 64 = |

Rav= 17227
= .3

C. 125:512

D. 625:4096
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11. Two similar cones have radii of 3 cm and 8 cm. Find the ratio of their volumes, small to large.

<q.
RefV= 3 8°

SFED

12. A paperweight is made of pure silver in the shape of a cylinder. The cylinder has diameter of 6 cm and is 10 cm tall. If

the silver \x/m(rhe 10.5 grams per cubic centimeter, to the nearest hundredth of a gram, how much does the nnnpr\vmo

weigh? U: Tir L\ qOTr ([o S) L 768 glj

13-14:. A manufacturer is designing two geometrically similar cylinders to be made out of plastic. She
needs a volume calculation know how much plastic to order.

13.The height of the green cylinder is 7 centimeters. The height of the blue cylinder is 10

centimeters. What is the ratio of volumes fcma" to ]nran?\
centimefers, Whatisthevy mall 12

AU 15 UIT 1 AUV Ul VUIULIITS

5{:’710
RV = T80

14. If the blue cylinder has a volume of 36 cubic centimeters, what is the volume of the green
cylinder? Retain every digit of the decimal.

I3HIN 22— »
|00 36 E( = |2.348 cm

1000x = 12348

|OOO | 00O
15. The volume of a sphere is — 29 1t inches cubed. What is its radius?

V= ziTrr3 S e3=dis

prln 3er

Answers:
1) 960 cm® 2) 96 in? 3) 288mx? units® 4) 2 ft3 5) 4.6 cm 6) 9 feet
7) $686.12 8) 48 in’ 9V = 96w mm3 10) A 11) 27: 512 12) 2968.81 grams

13) 343:1000 14) 12.348 cubic centimeters 15) 5 inches
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